Term 1 Assessment 1

Data-handling task – Suggested answers

Section A: Climate and weather

1
a) Monthly average rainfall for Cape Town = 445 mm(( ÷ 12 = 37 mm/month((

b) Monthly average rainfall for Johannesburg = 720 mm(( ÷ 12 = 60 mm/month((
(4 × 2) (8)
2
a) Average maximum temperature range for Cape Town = 25 °C( - 17 °C( = 8 °C((

b) Average maximum temperature range for Johannesburg = 27 °C( - 18 °C( = 9 °C((
(4 × 2) (8)
3
Cape Town is located in a winter rainfall region therefore experiences higher rainfall in
April to September as shown in the graph((.
Johannesburg is located in a summer rainfall region and therefore experiences higher 
rainfall in October to March as shown in the graph((.
(2 × 2) (4)
Section B: Geomorphology

1
Nine new Catchment Management Areas in alphabetical order:

Berg-Olifants

Breede-Gouritz

Inkomati to Usuthu

Limpopo

Mzimvubu to Tsitsikamma

Olifants

Orange

Pongolo to Umzimkulu

Vaal



(9)

2
South Africa's neighbouring states are: Namibia, Botswana, Zimbabwe, Mozambique, Swaziland
and Lesotho.


(6)

3
Five provinces that fall within the Vaal


Catchment Management area are:


Northern Cape, Free State, North West, 

Gauteng, Mpumalanga.


(5)

Total: 40 marks

